Boost

510640
1
PWM
diZdt dv/dt / [1]
PWM
PWM Boost
2
Boost 1
Lr Cs Cr D1 D2 D3 Lr
D Cs Cr Lr
Cs<Cr
1 t<t0
S ves=V0 ver=0 ilr=iin 2(a) 3
2 t0 tl1
t0 S iLr 2(b) t=tl iL.r D
3 t0 1=t1 t0= 1
3 t1 t2

[y

Boost



fin fin

3Boost

tl Cs D2 Cr Lr S vecr iLr 2(c)

3 iLr vCs ver iLr= sin(wt)

2 ver= 1 cos(wt) 3 ves=V0 cos(wt) 1 4 w=



t=t2 Cs ves=0

ts=arccos 5

4 t2 t3
12 ves=0 D1 Lr
ver 2(d) t=t3
t2 3=t3 t2=Tr(6) Tr=2m
5 t3 t4
13 iLr=0 D1 D2 vcr
2(e) 3 t=t4
6 t4 t5
t4 S Vi
Cr ver iL.r
7 t5 t6
t5 vCs VO VCsmax=V0
vcr iLr
8 t6 t7
6 PWM
S
S ves=0

Boost

Cr

VCs

ver

D1

lin

VCrmax

VCrmax

Cs

VCS

2(F)

L Lr Cr D3

iLr=li

2(a)

iLr=lin

n

vds

t=t7

Vdsmax

D1

PWM

t=t5

2(9)

VO

ts

D2

VCS

Cr

Cs

5
Cr
3
iL=is
L Lr Cr D3
VO

16

vds



i - LA
0 i
i b
04 L\
i = [ 1
i ;i 1A
1.5 HMMm s 1.5204ms B T
e ViMld) R E Y ] # liLr) v Viklg)
{a} b
50V
" B I N O N &
_‘1
S50V
1.52ms 1.53ms 1.54ms
t ViVhi) ¥ Nz
ch
4Boost
@ S
() Lr
©) Cr
3
Cs 10nF Cr Cs 20 tl1 2 ts Cs ves VO
di/dt EMI
Lr Lr
4
Boost Cr=400nF Cs=10nF L=200u H
C=40p F R=50Q Vi=15V Pspice Lr
Lr=50u H 4
4 vV ML d Vds Lr
is vV M1 d Vds
Cs iLr ver
5
[2] [2] Lr

Lr D



